
Based	
  on	
  these	
  answers,	
  the	
  answer	
  grid	
  would	
  be	
  filled	
  out	
  as	
  follows:
Test	
  No. Example

Item	
  # B C D E
A E ID E E
B E NC ID
C E E
D NC

Item	
  D	
  could	
  not	
  be	
  identified	
  or	
  eliminated	
  as	
  having	
  been	
  fired	
  in	
  the	
  same	
  firearm	
  as	
  
Items	
  B	
  and	
  E.	
  

Firearms	
  Identification	
  Proficiency	
  Test
Example	
  on	
  how	
  to	
  fill	
  out	
  the	
  answer	
  grid	
  	
  

5	
  cartridge	
  cases	
  labeled	
  A	
  through	
  E	
  were	
  submitted	
  for	
  intercomparison.	
  	
  

Items	
  A	
  is	
  identified	
  to	
  C
Item	
  B	
  is	
  identified	
  to	
  E

Items	
  A	
  and	
  C	
  are	
  eliminated	
  as	
  having	
  been	
  fired	
  in	
  the	
  same	
  firearm	
  as	
  items	
  B,	
  D	
  and	
  E.


